Al

Name:

Test 3: Review

Topics:

e Inequalities
o Simple
o Compound
e Interval Notation
o
o Graph intervals
e Percent Change
o Find percent change
o Find new or original amount
o Find Final amounts
e Weighted Averages
o Mixture, Mixture Percent, Distance

Inequality «& Graph < Interval Notation

e Old Stuff? Solving Equations, Clearing Fractions, Functions, Graph Features?

Review Practice:
Solve the following inequalities. Graph your solution.
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Practice: Solving Inequalities (Multi-Step)
Solve the following inequalities and graph the solution on the number line.
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Practice: Solving Compound Inequalities (and/or)

Solve the following compound inequalities and graph the solution on the number line.
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Inequality Interval Graph Set Notation
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Rewrite as an inequality and graph:
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Rewrite in interval notation, set notation, and graph:
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Write as an inequality, in interval notation and in set notation:
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A An alloy of metals is 25% copper. Another alloy is 50% copper.

\ How much of each should be used to make 1000 grams of an alloy
N \ that is 45% copper?

\ ) 7 /}V‘MS‘/ ro‘/‘*'/

v

%] 28 X 25x

L 50| SO | poo-x | o000 -50x o A
X 0 | o000 | YoboOO 600 g
Find Domain/Range in Int Not,  ~ . . 4% 3@‘2

i s ] Y A5 s 50000 -S5O = Y000
S A

e— -y bo0D S~ —70900

_ = -/6000
]Z [L/ Sj Ad A




